Chiffres Romains (A)

Faites la conversion entre les numéraux arabes et romains ci-dessous.

LXIV = 64 LXXII =
LXXXI = LI =
LX = X =
LXXXI = XXX =
LIl = XLV =

LXX =70 = 24

= 73 = 23

= 81 = 40

= 9] = 35

= 55 =3
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Chiffres Romains (A) Solutions

Faites la conversion entre les numéraux arabes et romains ci-dessous.

LXIV = 64 LXXII = 72
LXXXI = 81 LI = 51
LX = 60 X = 10
LXXXI = 81 XXX = 30
LIl = 52 XLV = 45
LXX = 70 XXIV = 24
LXXII = 73 XXIIT = 23
LXXXI = 81 XL = 40
XCI = 91 XXXV = 35
LV = 55 1 = 3
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